—— FEII T KL

—— FL VR (TR KAL)

R ESKZb

3.47

o

B &

=l

(s¥)€zoe
(v¥)zeoe
(€¥)TeoT
(c¢d)0zoz
(T9)610C
(0gH)8TOT
(6TH)LT0T
(8ZH)9tT0T
(LTH)STOT
AwNIvvﬁom
AmNIVmHON
AQNIVNHON

T—RIZEDE,

=mED

HEMEOKEERELTLES,
HEERT:-0.45m HIE:-0.63m

™
o
T
=
-
o
N
AR ERRICREL-HFR

ANNIVOHON
(TTH) 6007
(0ZH) 8007
(6TH)£00Z
(8TH)900Z
(LTH)S00Z ™
(9TH) Y007
(STH) €007
(VTH)Z00T
(€TH)T00Z
(ZTH)000Z
(TTH)666T
(OTH)866T
(6H) L66T
(8H)966T
(LH)S66T
(9H) ¥66T
(SH) €66T
(VH)T66T
(EH) T66T
(ZTH)066T
(TH)686T

HEF

—— AFEH T KAL

IR BEEKIEZD

*

L 4

HzTd5€70C

Q21404

HOT35€20C

H645£207

g 83p€T0C

H L45€20T

E945£207

H S#5€207

H va5£20T

g edpeToe

H zd5€207

H T45£207



